1) Determine o número de oxidação do elemento sublinhado:

	1
	AgC
	Na2O
	CC(F3
	PO31-

	2
	HBrO3
	CaO4
	Na3PO4
	SO42-

	3
	NaI
	CO2
	HIO
	H3SbO4

	4
	SO3
	C(O41-
	CaO
	Cr2(SO4)3

	5
	SiF4
	C(2O7
	LiH
	Bi2O3

	6
	ZnSO3
	HPO3
	A(2(SO4)3
	Ni(OH)2

	7
	F2
	HCO31-
	Mn2O3
	S8

	8
	SO22-
	NaHMnO4
	CrO3
	P2O74-

	9
	Fe2O3
	CuO
	K2Cr2O7
	SrSO4

	10
	As2O5
	Cr(OH)3
	C3H6O
	BaSO4

	11
	PH3
	HSO41-
	(NH4)4SiO4
	Cu2SO4

	12
	NH4NO3
	MgOHC(O2
	NH3
	CI4

	13
	Ga2O3
	ZnS
	Fe(OH)21+
	CdHPO4

	14
	HgO
	Fe(CN)3
	Zn(IO​3)2
	Si

	15
	H2MnO4
	NaKCO3
	ZrI2
	K3N

	16
	C2H6O
	BaO2
	K2O4
	HCN

	17
	Ca(MnO4)2
	Pd
	H3BO3
	NiSO4

	18
	A(2(HPO4)3
	Ni3+
	PC(5
	I2O

	19
	KIO
	FePO3
	Hg
	SnO2

	20
	BaSO4
	NaCN
	Pb(NO3)4
	Na4(OH)2(CN)2

	21
	CuOH
	NO31-
	Ag3PO4
	H4P2O7

	22
	IO​21-
	BO33-
	A(
	HCO31-

	23
	Mn3O4
	NaKSO3
	Mg2+
	Ga2S3


GABARITO

	AgC: -1
	Na2O: -2
	CC(F3: +4
	PO31- : +5

	HBrO3: +5
	CaO4: -1/2
	Na3PO4: +5
	SO42-: +6

	NaI: -1
	CO2: +4
	HIO: +1
	H3SbO4: +5

	SO3: +6
	C(O41-: +7
	CaO: +2
	Cr2(SO4)3: +3

	SiF4: +4
	C(2O7: +7
	LiH: -1
	Bi2O3: +3

	ZnSO3: +4
	HPO3: +5
	A(2(SO4)3: +6
	Ni(OH)2: +2

	F2: 0
	HCO31-: +4
	Mn2O3: +3
	S8: 0

	SO22-: +2
	NaHMnO4: +6
	CrO3: +6
	P2O74-: +5

	Fe2O3: +3
	CuO: +2
	K2Cr2O7: +6
	SrSO4: +6

	As2O5: +5
	Cr(OH)3: +3
	C3H6O: : -4/3
	BaSO4: +6

	PH3: -3
	HSO41-: +6
	(NH4)4SiO4: +4
	Cu2SO4: +6

	NH4NO3: +5
	MgOHC(O2: +3
	NH3: -3
	CI4: -1

	Ga2O3: +3
	ZnS: -2
	Fe(OH)21+: +3
	CdHPO4: +5

	HgO: +2
	Fe(CN)3: +2
	Zn(IO​3)2: +5
	Si: 0

	H2MnO4: +6
	NaKCO3: +4
	ZrI2: +2
	K3N: -3

	C2H6O: -2
	BaO2: +2
	K2O4: -1/2
	HCN: +2

	Ca(MnO4)2: +7
	Pd: 0
	H3BO3: +3
	NiSO4: +6

	A(2(HPO4)3: +5
	Ni3+: +3
	PC(5: +5
	I2O: +1

	KIO: +1
	FePO3: +3
	Hg: 0
	SnO2: +4

	BaSO4: +6
	NaCN: +2
	Pb(NO3)4: +5
	Na4(OH)2(CN)2: +2

	CuOH: +1
	NO31-: +5
	Ag3PO4: +5
	H4P2O7: +5

	IO​21-: +3
	BO33-: +3
	A(: 0
	HCO31-: +4

	Mn3O4: +8/3
	NaKSO3: +4
	Mg2+: +2
	Ga2S3: +3


